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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-2/HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

     Class: VI                                                                                          Maximum Marks:80                                                                                                              

     Subject: Hindi                                                                                           Time: 3 Hours                                                                                                                                              
 सामान्य निरे्दश :- 

1. इस प्रश्नपत्र में दो खडं हैं- खडं ‘अ’ और ‘ब’।  

2. सभी खडं अननवार्य हैं।  

3. प्रश्नों के सभी उपभागों के उत् तर क्रमशः एक साथ लिखखए।  

4. उत् तर-पुस्ततका में उत् तर के साथ वही क्रम संख्र्ा लिखखए, जो प्रश्नपत्र में दी गई है।  

5. इस प्रश्नपत्र में कुि 6  पषृ्ठ हैं, और प्रश्नों की संख्र्ा 18 है।  

  

 खडं-‘अ’  
1. (क) प्रस्तुत गदयांश को पढ़कर कारण एवं प्रभाव की तालिका पूरी कीजिए:-                                                          

हरे पेड़ खबूसूरत ददखते हैं। इनके कारण हमारा जीवन है, क्र्ोंकक र्ह हमें ऑक्सीजन देते 
हैं। रे् क्िोरोक़िि की सहार्ता से अपना भोजन तरै्ार करते हैं। हमें अपने बगीच ेमें फिों 
के पेड़ िगाने चादहए, ताकक फि खाकर हम तवतथ रह सकें । 

कारण प्रभाव 
 फि खाकर हम तवतथ रह सकें । 
र्ह हमें ऑक्सीजन देते हैं।  

 

(2) 

 (ख) प्रस्तुत गदयांश को पढ़कर पूछे गए प्रश्िों के उत् तर लिखखए:-  
मेरे प्र्ारे देशवालसर्ो! माता को आज़ाद करवाने के लिए रंगमंच पर हम अपनी भूलमका 
अदा कर चुके हैं। गित ककर्ा र्ा सही, हमने जो भी ककर्ा; तवतंत्रता पाने की भावना से 
प्रेररत होकर ककर्ा। इस पत्र को लिखने का उद्देश्र् आप सबके सामने मातभृूलम के प्रनत 
हमारे ननष्पाप प्रेम को ज़ादहर करना है। हमारे अपने ननदंा करें र्ा प्रशसंा, िेककन हमारे 
अपनों तक को हमारी दहम्मत और वीरता की प्रशंसा करनी पड़ी है। कुछ िोग कहत ेहैं 
कक हमने गिुामी को न सहा, और देश में आतंकवाद फैिाना चाहा, पर र्ह सब गित है। 
हमारे ककतने ही साथी आज भी आज़ाद हैं, कफर हमारे ककसी साथी ने कभी भी ककसी 
नुकसान पहुुँचाने वािे तक पर भी गोिी नहीं चिाई। र्ह हमारा उद्देश्र् नहीं था। हम तो 
आज़ादी हालसि करने के लिए देशभर में क्रांनत िाना चाहते थे। 
क)  प्रस्तुत पत्र के अशं को पढ़कर उसका कें द्रीय भाव, और कें द्रीय भाव का समर्थि करिे  
   वािा एक वाक्य लिखखए।  

(2)  
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 (ग) प्रस्तुत गदयांश को ध्यािपूवथक पढ़कर वेि आरेख के माध्यम से कोयि और कौवा  
    में एक अतंर और एक समािता लिखखए:— 
कोर्ि और कौवा दोनों पंछी हैं, और दोनों का रंग कािा होता है। कोर्ि की वाणी मधरु 
होने के कारण सभी इसे पसंद करते हैं, पर कौवे की वाणी कड़वी होने के कारण र्ह  
भगार्ा जाता है, जबकक ऐसा कहा जाता है कक कोर्ि आिसी और कौवा मेहनती पंछी 
है। हमें रूप-रंग नहीं, बस्कक व्र्वहार तथा गुण पर ध्र्ान देना चादहए।                      

(2)  

 (घ) प्रस्तुत गदयांश को ध्यािपूवथक पढ़कर पूछे गए प्रश्िों के उत् तर लिखखए:— 
अनुशासन का अथय है–आत्मानुशासन अथायत ्तवत: प्रेरणा से शालसत होना। प्रकृनत के समतत 
कार्य, व्र्ापार अनुशासन की सूचना देते हैं। ननस्श्चत समर् पर सूर्ोदर् और सूर्ायतत का 
होना, पथृ्वी की दैननक और वार्षयक गनतर्ाुँ, ऋत-ुपररवतयन, रे् सब ननर्मानुसार होते हैं। 
जब प्रकृनत बाढ़, भूकंप आदद के रूप में अपना अनुशासन भंग करती है तब प्रिर् की 
स्तथनत उत्पन्न हो जाती है। केवि प्रकृनत ही नहीं, अनुशासन की आवश्र्कता प्रत्रे्क के 
लिए है। अनुशासन जीवन के र्वकास और सफिता की कंुजी है। प्रकृनत के साथ-साथ र्ह 
बात व्र्स्क्त, समाज और राष्र पर भी िागू होती है। 
(i) इस गद्र्ांश में अनुशासन का क्र्ा अथय बतार्ा गर्ा है, और इसकी सचूना कौन देते  
   हैं? 
(ii) प्रिर् की स्तथनत कब उत्पन्न होती है? 

(2+2) 

2. (क) कर्ि : ‘चााँर्द’ शब्र्द अिुिालसक का उर्दाहरण है।  
    कारण : अिुिालसक वािे शब्र्दों में आवाज़ मुाँह और िाक से आती है।   
(i)  कथन एवं कारण दोनों सही हैं, परंतु कारण कथन की सही व्र्ाख्र्ा नहीं करता है।  

(ii) कथन एवं कारण दोनों सही हैं, क्र्ोंकक कारण कथन की सही व्र्ाख्र्ा करता है। 

(iii) कथन सही है, परंतु कारण गित है।  

(iv) कथन गित है, परंतु कारण सही है। 

(ख) कर्ि - पािी बहुत ठंडा हैI- वाक्य में रेखांककत शब्र्द ववशषेण का उर्दाहरण है।  

    कारण  - िो शब्र्द ववशषेण की ववशषेता बताते हैं, प्रववशषेण कहिाते हैंI 
 (i)  कथन एवं कारण दोनों सही हैं, परंतु कारण कथन की सही व्र्ाख्र्ा नहीं करता है।  

(ii) कथन एवं कारण दोनों सही हैं, क्र्ोंकक कारण कथन की सही व्र्ाख्र्ा करता है। 

(iii) कथन सही है, परंतु कारण गित है।  

(iv) कथन गित है, परंतु कारण सही है। 

(1) 

 

 

 

 

 

(1) 
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3. निम्िलिखखत शब्र्दों के उचचत संबंध वािे सही ववकल्प छााँटकर लिखखए:-  
(क) सपार्दक : संपार्दक ::  तीर्ी :  ? 

   (i) नतथी   (ii) नतथथ    (iii) तीथथ     (iv) तीथीर्ा   
(ख) आकाश : गगि  ::  मिुष्य :  ? 
   (i) दानव   (ii) मानव   (iii) दनुज    (iv) भगवान  
(ग) अलभिेता : अलभिेत्री ::  ववदवाि : ? 

   (i) िेखखका (ii) लशक्षित  (iii) ज्ञानी     (iv) र्वदषुी  
(घ) यात्रा :  यात्राएाँ ::  आाँख :  ? 
   (i) आुँखी  (ii) आुँखें    (iii) अखखर्ाुँ    (iv) आुँखों  
(ङ) स्वयं : नििवाचक सवथिाम :: िैसा-वैसा : ? 

i) ननश्चर्वाचक सवयनाम   ii) प्रश्नवाचक सवयनाम  

   iii)  संबंधवाचक सवयनाम    iv) पुरुषवाचक सवयनाम   

(1×5=5) 

4. निम्िलिखखत वाक्य में उपयुक्त स्र्ाि पर उचचत ववराम चचह्ि िगाइए:-  
(क) तुम क्र्ा पढ़ रहे हो 
(ख) माुँ ने कहा बबदिर्ा लमठाई खा िो 

(1+1) 

5.  स्तंभ (अ) वािे शब्र्दों को स्तंभ (ब) के उचचत शब्र्दों से लमिाकर लिखखए:-  
स्तंभ (अ) स्तंभ (ब) 

(क) गुणवाचक र्वशषेण               (i) चार मीिर साड़ी 
(ख) संख्र्ावाचक र्वशषेण             (ii) मीठा आम  
(ग) पररमाणवाचक र्वशषेण           (iii) दस आदमी 

 

(3)  

6. निम्िलिखखत वाक्यों को पढ़कर सही या ग़ित लिखखए:– 
(क) ‘अमीरी’ शब्द व्र्स्क्तवाचक संज्ञा है।            
(ख) ‘बेचना’ और ‘खरीदना’ र्विोम शब्द है।                     
(ग) ‘करेिा बहुत कड़वा हैI’ वाक्र् में ‘कड़वा’ शब्द र्वशषेण का उदाहरण प्रततुत कर रहा    

        है।  

(3)  

7. निम्िांककत चचत्र के आधार पर संयुक्त व्यंिि वािा एक शब्र्द लिखखए:-  

 

 

   

(1) 
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8. निम्िांककत चचत्र के आधार पर ‘र’ के रेफ़ रूप का प्रयोग वािा एक शब्र्द लिखखए:-  

 

(1) 

9. निम्िलिखखत वाक्य को कोष्ठक में दर्दए गए सही शब्र्द से पूरा कीजिए:-  
क) ---------- व्र्स्क्त जीवन में सफि नहीं हो सकते। (मेहनती / आिसी)   

(1) 

10. निम्िलिखखत वाक्यांशों के लिए एक शब्र्द लिखखए:- 
(क) पंद्रह ददनों में होने वािा 
(ख) स्जसके आने की नतथथ ननस्श्चत न हो  

(1+1) 

11. निम्िलिखखत गदयांश पर आधाररत बहुववकल्पी प्रश्िों के सवाथचधक उपयुक्त ववकल्प को 

छााँटकर लिखखए:- 

पेड़ हमारे माता-र्पता के समान हैं। रे् हमें छार्ा देते हैं, फि देते हैं और स्जस प्रकार माुँ 

अपने बच्च ेके लिए सभी प्रकार के दखु सहन करती है, उसी प्रकार रे् पेड़-पौधे भी धपू, 

वषाय, जाड़ा, धिू आदद सब अपने ऊपर िेकर हमें सुख देते हैं, हमारी रिा करते हैं। जब 

कभी कोई व्र्स्क्त हरा विृ कािने िगता तो उसे बड़ा कष्ि होता। उसे ऐसा िगता जैस े

वह पेड़ नहीं ,उसके शरीर का अगं काि रहा है। वह उसे र्वनम्र भाव से समझाता और पेड़ 

कािने से रोकता। न मानने पर वह उससे िड़ने-मरने के लिए तैर्ार हो जाताI 

(क) पेड़ों की तुििा ककससे की गई हैं? 
   (i) साथथर्ों से      (ii) ररश्तेदारों से    (iii) माता-र्पता से    (iv) दशु्मनों से  
(ख) पेड़-पौधे हमें क्या िहीं  रे्दते हैं? 
   (i) फि           (ii) फूि          (iii) छार्ा            (iv) नींद   
(ग) सुंर्दर िाि को ककससे कष्ट होता र्ा? 
   (i) भूख स े        (ii) प्र्ास से     (iii) विृ किने से     (iv) िड़ाई-झगडा से  
(घ) पेड़ ककससे हमारी रक्षा करते हैं? 

  (i) धपू,वषाय,जाड़ा,धिू  (ii) कंकड़-पत्थर   (iii) नदी,पहाड़,झरने  (iv) जंगिी पशुओं स े 
(ङ) प्रस्तुत गदयांश ककस पाठ से लिया गया है? 
  (i) मोहन िाि        (ii) सुंदर िाि     (iii) जुम्मन िाि      (iv) चन्द्र िाि  

(1×5=5) 



5 
 

12. निम्िलिखखत काव्यांश पर आधाररत बहुववकल्पी प्रश्िों के सवाथचधक उपयुक्त ववकल्प को 

छााँटकर लिखखए:- 
 

रदहमन वे नर मर चकेु, जे कहुुँ माुँगन जाुँदहI 

उनते पहिे वे मुए, स्जन मुख ननकसत नाुँदहII 

तरुवर फि नहीं खात है, सरवर र्पर्दह न पानI 

कदह रहीम पर काज दहत, संपनत संचदह सुजानII 

रदहमन ननज मन की बबथा, मन ही राखो गोर्I 

सुनन अदठिैहें िोग सब, बाुँदि न िैहें कोर्II 
 

(क) रहीम िे ककस व्यजक्त को मरे हुए व्यजक्त के समाि बताया है?   

(i) जो दसूरों की मदद करने जाते हैं।        (ii) जो दसूरों की बातें सुनते हैं।       

(iii) जो दसूरों से मदद माुँगने जाते हैं।       (iv) जो दसूरों की बातें नहीं सुनते हैं।       

(ख) ‘मुए’ का अर्थ है- 

(i) मुकर जाना                                 (ii) महक जाना       

(iii) मर जाना                                 (iv) लमि जाना  

(ग) सज्िि व्यजक्त अपिी संपजत् त ककसके लिए संचचत करते हैं? 

(i) ररश्तेदारों के लिए                            (ii) बच्चों के लिए    

(iii) दसूरों के दहत के लिए                       (iv) पररवार के लिए 

(घ) तरुवर और सरवर का अर्थ है- 

(i) लमट्िी और पानी                            (ii) पेड़ और ताि   

(iii) आकाश और पाताि                         (iv) फि और सब्ज़ी  

(ङ) र्दसूरों की पीड़ा को िाि िेिे के बार्द हमें क्या करिा चादहए? 

(i) उसका मज़ाक उड़ाना चादहए।                (ii) उसकी मदद करनी चादहए।  

(iii) उसे परेशान करना चादहए।                 (iv) उसे अकेिा छोड़ देना चादहए।   
 

(1×5=5) 
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13. 

                               खडं-‘ब’  
निम्िलिखखत ककन्ही ंचार प्रश्िों के उत् तर (25-30 शब्र्दों में) लिखखए:- 
(क) अगर राजा र्वजर् लसहं के तथान पर आप होते तो अपनी प्रजा का ध्र्ान रखने के  

    लिए आप क्र्ा करत?े अपने र्वचार लिखखए।  
(ख) अगर आपको कोई कार्य करने के लिए ददर्ा जाए तो क्र्ा आप वह कार्य अकेिे करेंगे   
    र्ा लमिकर? अपने र्वचार लिखखए। 
(ग) अपने पर्ायवरण को संतुलित और शुद्ध बनाए रखने के लिए आप क्र्ा-क्र्ा करेंगे? 
(घ) आप सत्र्पाि और चचंि में से ककसे अपना लमत्र बनाना चाहेंगे, और क्र्ों? 
(ङ) अगर आप अपने आस-पास पेड़ों को किते हुए देखेंगे, तो क्र्ा करेंगे?   

 
(2×4=8) 

14. निम्िलिखखत ककन्ही चार प्रश्िों के उत् तर (40-50 शब्र्दों में) लिखखए:- 
(क) आप सच्चा लमत्र ककसे कहेंगे? तकय  सदहत अपना उत् तर लिखखए।   
(ख) दादा जी ने ओिों के बनने और थगरने के बारे में बच्चों से क्र्ा कहा?  
(ग) अपने पर्ायवरण को संतुलित और शुद्ध बनाए रखने के लिए आप क्र्ा-क्र्ा करेंगे? 
(घ) असंभव से असंभव कार्य भी एक साथ लमिकर करने से संभव हो जाता है, कैस?े 
(ङ) ‘थचपको आंदोिन’ क्र्ा है, और इसका सूत्रपात्र कैसे हुआ?  

(3×4=12) 

15. ककसी एक ववषय पर अिुच्छेर्द (80 शब्र्दों में) लिखखए:– 
(क) मेरे जीवन का िक्ष्र्       (ख) र्वज्ञान-मेिा          (ग) मेरी रोमांचक र्ात्रा      

(5) 

16. अपने िेत्र में चोरी की बढ़ती हुई घिनाओं को रोकने के संबंध में थानाध्र्ि को 100 शब्दों  
में पत्र लिखखएI 

अर्वा 
‘थचड़ड़र्ाघर की सैर’ से प्राप्त अपने अनुभवों की जानकारी देते हुए अपने लमत्र को 100 
शब्दों में पत्र लिखखए।                                                

(5) 

17. ‘पेड़ों की किाई को रोकन’े के र्वषर् पर दो लमत्रों के बीच हुई बातचीत को 60-70 शब्दों में 
संवाद-रूप में लिखखए। 

अर्वा 
अपन ेमोहकिे में फैिी गंदगी पर दो लमत्रों के बीच हुई बातचीत को 60-70 शब्दों में संवाद 
के रूप में लिखखए। 

(5) 

18.  (क) ‘जि है, तो हम हैं’ र्वषर् के लिए 50-60 शब्दों में एक आकषयक र्वज्ञापन बनाइए। 
अर्वा 

ख) ‘प्िास्तिक के उपर्ोग के र्वरोध में’ 50-60 शब्दों में एक आकषयक र्वज्ञापन बनाइए।  

(5) 

 

************************* 
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                     D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-2 / HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class: VI                                                      Maximum Marks: 80 

Subject: Bengali                                      Time: 3 Hours 

নির্দেনিকা:     ক) এই প্রশ্নপর্ে ম াট ৪ নট নিভাগ আর্ে। 
               খ) এই প্রশ্নপর্ে ম াট ১৭ নট প্রশ্ন আর্ে। 

 নিভাগ - ক  

1. নিম্ননিনখত গদ্াাংি দুনট পাঠ কর্ে প্রদত্ত প্রশ্নগুনিে সঠিক উত্তেঠি বেছে ঠিছে বেছ ো:   
ক) িনেিার্িে মগার্েন্দাো নিনটি সেকার্েে আর্দর্ি চট্টগ্রার্  ১৯৩০ সার্িে  াঝা ানঝ স ে মের্ক 
অকে্ অত্াচাে কের্ত শুরু কর্ে। সাধােণ  ািুষ যার্ত ভর্ে নিনটি সেকার্েে অিুগত হর্ে পর্ে, 
নিপ্লিীর্দে সাহায্ িা কর্ে, এটা সুনিনিত কোই নেি এর্দে প্রধাি উর্েি্। একনদি মভাের্িিাে দি  
মেনণে োে হনেপদ ভট্টাচার্যেে প্রনতর্িিী সাত িের্েে ফুটফুর্ট ম র্ে পারুি, কাজী িজরুি ইসিার্ ে 
‘দুগে  নগনে, কান্তাে- রু’ গািনট গাইনেি। গার্িে কনি োস্তা নদর্ে মহেঁর্ট যাওো পুনির্িে কার্ি যাওো 
 াে তাো পারুর্িে িানের্ত ঢুর্ক ভাঙচুে চািাে। পারুির্ক নপনটর্ে ম র্ে মফর্ি। মসই িানেে অনিকা 
চক্রিতেী আে হনেপদর্ক তাো নিপ্লিী সর্ন্দর্হ মগ্রফতাে কর্ে। তােপে  ্ানজর্েট ডুণেে অত্াচার্েে 
নিকাে হে তাো। এই অত্াচার্েে মযাগ্ জিাি নদর্ত মিষ পযেন্ত  াস্টােদা সূযে মসি পনেকল্পিা কের্ত 
োর্কি। অির্ির্ষ ডুণের্ক উনচত নিক্ষা মদিাে জি্ সর্োজ গুহর্ক দানেত্ব মদওো হে। তরুণ সর্োর্জে 
আঘার্ত ডুণেে প্রাণ নিপন্ন িা হর্িও মস সাো জীির্িে  র্তা পঙু্গ হর্ে যাে।  

(1×10 = 10) 

 i) িনেিার্িে মগার্েন্দাো অত্াচাে কের্ত শুরু কর্েি -  
    a. কিকাতাে              b. ঢাকাে             c. চট্টগ্রার্                d. িনেিার্ি   
ii) নিনটি সেকাে মগার্েন্দার্দে অত্াচার্েে আর্দি নদর্েনেবেি, কোরণ -   
    a. অপোধীর্দে িানস্ত মদওো নেি এে  ূি উর্েি্।         
    b. সাধােণ  ািুষ যার্ত ভর্ে নিনটি সেকার্েে অিুগত হর্ে পর্ে। 
    c. সাধােণ  ািুষ যার্ত নিপ্লিীর্দে সাহায্ িা কর্ে।       
    d. ‘b’ এেং ‘C’ দুনটই সনঠক   
iii) ‘দুগে  নগনে, কান্তাে- রু’ গািনট গাইনেি -  
    a. কাজী িজরুি ইসিা     b. পারুি         c. হনেপদ ভট্টাচাযে         d. সূযে মসি 
iv)  ্ানজর্েট ডুণেে অত্াচার্েে জিাি নদর্ত পনেকল্পিা কের্ত োর্কি - 
    a.  াস্টােদা সূযে মসি       b. সর্োজ গুহ     c. অনিকা চক্রিতেী        d. হনেপদ ভট্টাচাযে 
v) ‘অত্াচাে’ িব্দনটে সনি নির্েদ কের্ি হর্ি -  
    a. অনত + আচাে           b. অনত + চাে     c. অত্া + চাে            d. অ + আচাে   

 

 খ) ঈশ্বেচন্দ্র নিদ্াসাগর্েে মের্ক েিীন্দ্রিাে ঠাকুে িের্স প্রাে একচনিি িের্েে মোর্টা নের্িি। 
েিীন্দ্রিার্েে িািা মদর্িন্দ্রিাে ঠাকুে নের্িি নিদ্াসাগর্েে িিু। দাদা মজ্ানতনেন্দ্রিাে ঠাকুর্েে একপ্রকাে 
োোসঙ্গী হওোে জি্ নতনি তােঁর্দে িাদুেিাগার্িে িানের্ত ঈশ্বেচন্দ্রর্ক মদখর্ত পাি। মজ্ানতনেন্দ্রিাে 
তখি ‘কনিকাতা সােস্বত সনিিিী’ িা ক একনট সানহত্ সন নত গর্ে মতািাে জি্ ভীষণ ি্স্ত নের্িি। 
স্বভোছে আর্িগপ্রিণ মজ্ানতনেন্দ্রিাে এই নিষেনট নির্ে একপ্রকাে িাির্কে  র্তা উেীপিাে ম র্ত 
নের্িি। সন নতে কাযেকিাপ সুসম্পন্ন কোে জি্ নিদ্াসাগর্েে পো র্িেে দেকাে নেি। উপর্দষ্টা নহর্সর্ি 
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 মজ্ানতনেন্দ্রিাে তাই নিদ্াসাগের্ক নির্জে ক েযর্ে জনের্ে নির্ত চাইর্িি। সফিও হর্িি। নিদ্াসাগে 
খুি  ি নদর্ে মজ্ানতিািুে সি কো মিািাে পে সভা মের্ক প্রভািিািী মিার্কর্দে িাদ মদিাে প্রস্তাি 
নদর্িি। তােঁে  র্ত এর্ত অনধক সন্ন্াসীর্ত গাজি িষ্ট হর্ি। সি কাজ িষ্ট হর্ে যার্ি। োর্জন্দ্রিাি ন র্েে 
 র্তা অর্ির্কেই তাই মসই সভাে সভ্ হিাে ইর্ে োকর্িও তা আে িাস্তিানেত হওো সম্ভি হি িা। 

 

 i) ঈশ্বেচন্দ্র নিদ্াসাগর্েে মের্ক েিীন্দ্রিাে ঠাকুে মোর্টা নের্িি - 

  a. চনিি িেবরর        b. একচনিি িেবরর       c. নিোনিি িেবরর        d. বেেোঠিশ িের্েে  

ii) েিীন্দ্রিাে প্রে  ঈশ্বেচর্ন্দ্রে দিেি পাি - 

  a. িানন্তনির্কতর্ি      b. মজাোসােঁর্কার্ত           c. িাদুেিাগার্িে িানের্ত   d. িীেনসাংহ গ্রার্   

iii)  ন্তি্: মজ্ানতনেন্দ্রিাে তাই নিদ্াসাগের্ক নির্জে ক েযর্ে জনের্ে নির্ত মচর্েনের্িি।  

    যুনি: সন নতে কাযেকিাপ সুসম্পন্ন কোে জি্ নিদ্াসাগর্েে পো র্িেে দেকাে নেি। 

  a.  ন্তি্ নঠক নকন্তু যুনি ভুি                      b.  ন্তি্ ভুি নকন্তু যুনি নঠক  

  c.  ন্তি্ ও যুনি উভর্েই নঠক                    d.  ন্তি্ ও যুনি উভর্েই ভুি  

iv) নিদ্াসাগর্েে  র্ত অনধক সন্ন্াসীর্ত িষ্ট হর্ি -  

  a. সনিিিী           b. প্রস্তাি                c. গাজি                  d. আর্িগ 

v) ‘কাজ িষ্ট হর্ে যার্ি।’ এই িার্ক্ে বে িব্দনটে  র্ধ্ মূর্ধিয েণধ আর্ে, বসই শব্দঠি হে -  

  a. িষ্ট                b. হর্ে                  c. যার্ি                   d. কাজ 

 

2. নির্জে ভাষাে একনট পে েচিা কর্ো: 

মতা াে নিদ্াির্ে নচে প্রদিেিী মক ি হি তা জানির্ে নপ্রে িিুর্ক একনট পে মির্খা।  

অথেো 

মতা ার্দে পাোে অিুনিত ক্রীড়ো প্রনতর্যানগতাে িণেিা নদর্ে ভাইর্ক একনট পে মির্খা।  

(5×1 = 5) 

3. নির্জে ভাষাে একনট অিুর্েদ েচিা কর্ো:  
ক) জর্িে অপনেহাযেতা         
খ) নিোর্িে অিদাি         
গ) ঠিেঠমে েযোেোছমর প্রছেোজিীেতা 

(5×1 = 5) 

 নিভাগ-খ  

4. িূি্স্থাি পূেণ কর্ো:  
ক) চাষািাদ = চোষ +_______       খ) িানিক = বিৌ +________      গ) প্রত্ক্ষ = প্রঠে +______ 
ঘ) কুিাসি = ______+ আসি      ঙ) শুর্ভো = ______+ ইচ্ছো      চ) কু্ষধাতে = ______ + ঋে  

(1×6 = 6) 

5. সনঠক উত্তেনট নিিোচি কর্ে মির্খা:  

ক)  ই িা ঈ -এে পে ই িা ঈ োকর্ি উভর্ে ন র্ি -   
      a. ঈ হে    b. ই হে   c. উ হে   d. মকািটাই সঠিক িে 

(1×4 = 4) 

 খ)  ন্তি্: িাাংিা ভাষাে সিস ে সাংসৃ্কর্তে  র্তা সি জােগাে সনি কো হে িা। 

   যুনি:  িাাংিাে সি জােগাে সনি কের্ি উচ্চাের্ণ অসুনিধা হে িা। 

a.  ন্তি্ শুদ্ধ নকন্তু যুনি অশুদ্ধ                         b.  ন্তি্ অশুদ্ধ নকন্তু যুনি শুদ্ধ  

c.  ন্তি্ ও যুনি উভর্েই শুদ্ধ                           d.  ন্তি্ ও যুনি উভর্েই অশুদ্ধ  
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 গ) ‘বেেোেে’ িব্দনটে সনি নির্েদ কের্ি হর্ি -   

a. মদি + িে         b. বেেো + িে          c. মদি + আিে         d. দদি + আিে    

 

 ঘ) িা  নদক ও ডাি নদক ন নির্ে সনঠক উত্তেনট মির্ে নির্ে মির্খা:                                                  
িা  নদক ডাি নদক 
a. যর্েষ্ট 
b. োজনষে 
c. নগেীি 
d. িোধ  

১. িে + অধ  
       ২. নগনে + ঈি 

৩. োজা + ঋনষ 
       ৪. যো + ইষ্ট  

i. a. - ১, b. - ৪, c. - ৩, d. - ২                ii.  a. - ৪, b. - ৩, c. - ২, d. -১  
iii. a. - ৪, b. - ৩, c. - ১, d. – ২                iv. a. - ২, b. - ১, c. - ৪, d. - ৩   

 

6. সত্ / ন ে্া নিণেে কর্ো:  
ক) আেেস্থািভাগী ির্ণেে উদাহেণ ‘ঙ’।             
খ) ‘ঔ’ হে একঠি বেৌঠিক স্বরধ্বঠি।                 
গ) চন্দ্রনিনু্দ ময ির্ণেে  াোে ির্স, মসই ির্ণেে উচ্চােণ সািুিানসকত্ব িাভ কর্ে িো।              
ঘ) ‘ঠ’ েণধঠির উচ্চোরণ-স্থোি হে েন্ত।                   
ঙ) তািুে সাহার্য্ উচ্চানেত হে ির্ি চ-মক ির্ি তািি্ িণে।   

(1×5 = 5) 

7. িূি্স্থাি পূেণ কর্ো:  

ক) নিশ  মদওোে ধ্বনিে সর্ঙ্গ সাদৃি্ আর্ে ির্ি শ , ষ , স  - এর্দের্ক __________ ধ্বনি ির্ি। 
খ) ‘ত’ মের্ক ‘ি’ পযেন্ত ধ্বনিগুনি উচ্চােণ কোে স ে নজর্ভে সর্ঙ্গ দােঁর্তে মূে স্পিে হওোে এর্দের্ক  

    __________ ধ্বনি ির্ি।  

গ) ‘য’, ‘ে’, ‘ি’, ‘ি’ - এো স্পিেিণে ও উষ্মির্ণেে  ার্ঝ অিনস্থত হওোে এর্দে __________িণে ির্ি।   

ঘ) ‘ক’ মের্ক ‘ঙ’ পযেন্ত ধ্বনিগুনি উচ্চাের্ণে স ে নজর্ভে নপেি নদক __________  স্পিে কর্ে।  

ঙ) িাাংিাে __________ ম ৌনিক স্বেধ্বনি আর্ে।    

(1×5 = 5) 

 নিভাগ- গ   
8. সনঠক উত্তেনট নিিোচি কর্ে মির্খা: 

ক)  ‘বসও ময একটা  স্ত মোগ।’— িিা হছেি - 
   a. দুর্ি িউ            b. িিফুি            c. নপ্রে  ুখুর্য্             d. ষষ্টীচেণ 
খ) নিিৃনত : দুর্ি িউ নপ্রে মু ুছেযে কার্ে চাি মচর্েনেি।  
  কােণ-১: িাস্তনিক েুছে িউনট খুি হ্াাংিা নেি।  
  কােণ-২: তাে ম র্ে চাে প্রহে নকেু ব ছে পোে ঠি। 
  a. কােণ ১ ও কােণ ২ ভুি                               b. কােণ ১ ও কােণ ২ সনঠক  
  c. কােণ ১ সনঠক নকন্তু কােণ ২ ভুি                        d. কােণ ১ ভুি নকন্তু কােণ ২ সনঠক 

(1×2 = 2) 

9. একনট িার্ক্ উত্তে দাও: 

ক) নিউটর্িে আর্গ মক প্রে  পৃনেিীে আকষের্ণ উপে মের্ক সকি িস্তুে  ানটর্ত পোে কো ির্িি?  

খ) ‘বস যুর্গ নিোর্ি তাে স কক্ষ বকোছিো মদি নেি িা।’— এখার্ি বকোন্ মদর্িে কো িিা হর্ের্ে? 

গ) প্রাচীিকার্ি নহনু্দ নচনকৎসকো নচনকৎসা কের্ত মকাোে মকাোে মযর্তি?  

(1×3 = 3)  
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10. প্রশ্নগুঠের েথোেথ উত্তে দাও: 

ক) ‘এই িনিো মস মযনদর্ক পাগিাঠাকুে অন্তনহেত হইোনেি মসইনদর্ক  ুখ কনেো দুই হাত মজাে কনেো 

একটা ি স্কাে কনেি।’— বক, কোছক ‘পোিেোিোকুর’ েছে সছবোর্ি কছরছে? এই উনি কতটা যুনিযুি 

ির্ি মতা াে  র্ি হর্ের্ে, তা নির্জে ভাষাে মির্খা।  

খ) বকোন্ সমেকোছে ভোরেেছষধ কোচ প্রস্তুে প্রণোেী উৎকষধ েোভ কছরঠেে এেং বসকথো বকোন্ ঐঠেহোঠসছকর 

কোে বথছক জোিো েোে? আছেোর েক্রণ ও প্রঠেফেি সবছে েোছের জ্ঞোি ঠেে ঠকিো েো েুঠিসহ বেছ ো। 

 

 

(2+3 = 5) 

 

 

 

(2+3 = 5) 

11. সত্ / ন ে্া নিণেে কছরো:   
ক) নিজ িানন্তপি শোঠন্তিগর্ে িাস কের্তি।   

খ) মক্ষে র্ধ্ ঠিছে নিজিে আরুঠণছক মডর্কনের্িি। 

(1×2 = 2) 

12. একনট িার্ক্ উত্তে দাও: 

ক) ‘এ প্রেোছস মঠজ বপ্রম-ভোছে…’ — এ োছি ‘প্রেোছস’ েেছে বকোন্ মদর্ির কথো েেো হছেছে?  

খ) বেোছকরো ‘মোেো-মন্ত্রধ্বঠি’ ক ি বশোছি? 

গ) ‘েছের সংিীছে’ কঠে কোর িোম ঠিছেছেি?   

(1×3 = 3) 

13. সপ্রসে েযো যো বেছ ো:   ‘আপনি শুইিা  িােঁর্ধ তাহাে কােণ।।’   (5×1 = 5) 

14. নির্জে ভাষাে উত্তে দাও:  

‘দুগ্ধ-বরোছেোরূপী-তুন  জন্ম-ভূন -স্তর্ি!’— েিো বক এেং মকান্ প্রসর্ঙ্গ ঠেঠি এ কো েছেছেি? এই 

উদৃ্ধঠের মর্য ঠেছে কঠে কী বেোঝোছে বচছেছেি, েো ঠিছজর ভোষোে েণধিো কছরো।   

 

(3+2 = 5) 

 নিভাগ-ঘ   
15. পূণেিার্ক্ উত্তে দাও:  

ক) মগাদািেী-তীর্ে শ্রীচচতি্র্দর্িে সার্ে কাে মদখা হে? 

খ) শ্রীচচতি্র্দর্িে একজি ির্োর্জ্ি সহপাঠীে িা  মির্খা।   

গ) ‘ ুকুি’ পনেকানটে সম্পাদিা মক কের্তি?   

ঘ) সুকু াে োর্েে নপতাে িা  কী নেি?  

ঙ) িির্সন্স ক্লার্িে  ুখপেনটে িা  কী নেি?  

(1×5 = 5) 

16. ঠিছচর প্রশ্ননটে যোযে উত্তে দাও: 

‘বেছশ প্রাে স েই যুদ্ধনিগ্রহ মির্গ েইি।’ — মদর্ি মকি এেক  ঘটিা ঘটি?   
(2×1 = 2) 

17. নির্জে ভাষাে উত্তে দাও: 

কছে এেং কীভার্ি ‘ াির্ড ক্লাি’ প্রনতনিত হে?   

(3×1 = 3) 

**************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/ HALF YEARLY EXAMINATION 

SESSION: 2024-25 

Class: VI                   Maximum Marks: 80 

Subject: English                                              Time: 3 Hours 

General Instructions: 

• This paper consists of four sections: A , B , C  and D. 

• There are 16 questions and all are compulsory. 

• Question number 4, 5 and 6 have internal choices. Attempt any one from each question. 

• Read each question carefully and follow the instructions. 

 SECTION-A : READING (20 MARKS)  

1.  Read the passage and answer the questions that follow: 

When I was a girl of about twelve, I used to stay in a village in North Karnataka with my 

grandparents. Those days, the transport system was not very good, so we used to get the 

morning paper only by afternoon. The weekly magazine used to come one day late. All 

of us would wait eagerly for the bus, which used to bring the newspapers, weekly 

magazines, and the post. 

At that time, Triveni, a very popular writer in Kannada, wrote a novel called ‘Kashi 

Yatre’, which was appearing as a serial in the weekly magazine. It was the story of an 

old lady and her ardent desire to go to Kashi or Varanasi. Most Hindus believe that 

going to Kashi and worshipping Lord Vishweshwara is the ultimate punya. This old lady 

also believed in this, and her struggle to go there was described in a very interesting 

manner in the novel. 

In the story, there was also a young orphan girl who falls in love but there was no money 

for the wedding. At the end, the old lady gives away all her savings without going to 

Kashi. She says, “The happiness of this orphan girl is more important than worshipping 

Lord Vishweshwara at Kashi.” My grandmother, who was illiterate, would ask me to 

read the serial out to her. During that time, she would forget all her work and listen with 

the greatest concentration. Later, she could repeat the entire text by heart. 

 

a) Name the novel that appeared as a serial in the weekly magazine. (1) 

b) What did the old lady of the novel prefer over going to Kashi?   (1) 

c) Which word in the given sentence can be replaced by the word ‘STRONG’?   

‘It was the story of an old lady and her ardent desire to go to Kashi or Varanasi.’ 

(1) 

d) Find the word from the 3rd paragraph of the above passage which means – ‘to listen 

attentively’.   

(1) 

e) Why was the morning paper delivered in the afternoon?  (1) 

f)  State any one action or behaviour of the grandmother which supports the fact that she 

was very keen to know the story.        

         (1) 

g) How can we say that the old lady in the novel was kind hearted in nature? (2) 

h) Do you think that the sacrifice performed by the old lady of the novel is justified? Give 

reason to your answer. 

(1+1) 

2.  Read the poem given below and answer the following questions: 

‘Hope is the thing with feathers, 

That perches in the soul, 

And sings the tune without the words, 

And never stops at all, 
 

And sweetest in the gale is heard; 

And sore must be the storm, 

That could abash the little bird, 

That kept so many warm.’  

 

a)  What is hope being compared to in the first stanza of the above poem? (1) 
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b)  Where does hope perch according to the first stanza of the above poem? (1) 

c)  What could abash the little bird? (1) 

d)  Find out the word from the above poem which is the antonym of the word ‘comfort’. (1) 

e)  Find out the word from the above poem which means ‘a very strong wind’. (1) 

   3. Read the passage carefully and answer the following questions: 

How do humans and other animals communicate with each other? Of course, humans 

communicate verbally by talking and making other sounds like laughing. Most other 

mammals also communicate by making sounds as well. Sophisticated and intelligent 

mammals, especially dolphins and whales, possess well developed verbal skills and 

communicate with high-pitched sounds that carry through the water. Researchers are 

actively working on interpreting these sounds in order to understand dolphin and whale 

language. Verbal communication is accompanied by non-verbal body language which 

also conveys certain meanings and emotional aspects. Body language includes facial 

expression, posture, position of the arms and many other cues that help in understanding 

the meaning of verbal communication. In the absence of verbal communication, body 

language can be sufficient to convey a specific meaning. Sometimes, merely a stern look 

from Mom or Dad or a teacher, lets you know that you are not behaving properly; no 

words are necessary! 

 

a) What does ‘body language’ consist of ?    (1) 

b)  How do whales and dolphins communicate?       (1) 

c)  How is communication possible in the absence of verbal communication?                                                  (1) 

d)  How do most mammals communicate?                  (1) 

e)  Find the word from the above passage which means ‘strict’.   (1) 

 SECTION-B : WRITING (16 MARKS)  

   4. You are Riya. Today, while your brother was out, you received a phone call from 

Aniket, your brother’s classmate. 

Read the conversation given below:    

Aniket: Hi, is this 8092086505? 
Riya: Yes, this is Riya speaking. May I know who is speaking on the other side? 

Aniket: Hi Riya! I’m Aniket, your brother’s classmate. 

Riya: Oh, hello Aniket! He’s not at home right now. How can I help you? 

Aniket: Please tell him to bring the project files we worked on together. We need to 

submit them tomorrow. 

Riya: Sure, I’ll let him know as soon as he gets back. 

As you prepare to go out, leave a message for your brother, Raj. Write the message 

in not more than 50 words.  

OR 

Good health is a great blessing. In a fast-paced life, we hardly get time to focus on our 

health and fitness. We also forget that if we lose health, we lose everything. In view of 

this, write a paragraph on the topic- ‘HEALTH IS WEALTH’. 

(Word limit: 50 words) 

OR 

Read the information given below and complete the following paragraph: 

Honeybees play a vital role in pollinating flowers. As they move from flower to flower, 

they transfer pollen grains, which helps the plants to produce fruits and seeds. 

Pollination is essential for agriculture because many crops rely on this process. 

Honeybees also make honey, a sweet and nutritious substance that they store in the 

hives. 
 

Honeybees have a crucial job of (a)___________. When they travel from one blossom to 

another, they transfer pollen grains, aiding plants in producing (b)___________. This is 

crucial for farming as many crops depend on (c)___________. Honeybees are also 

responsible for producing (d) _______, a tasty and healthy substance that they keep in 

hives. 

(4) 
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5. You are Sohan/ Sohini of D.A.V. Public School, Jaipur, Rajasthan. Write a letter to the 

Principal of your school requesting him/her to organize a science exhibition just before 

the puja holidays. (100-120 words)     

OR 

Write a letter to your cousin describing the importance of punctuality in a student’s life. 

(100-120 words)    

     (6) 

6. Prepare a speech for the morning assembly of the school on how festivals can bring 

about joy and unity in a diverse society, taking help from the unit ‘Celebrations’ of your 

My English Reader Book. (100-120 words)           

              OR 

You have come to understand the importance of friends in your school life. Prepare a 

diary entry showcasing how your friends have been a significant support system and 

how you plan to be a better friend. You may take help from the unit ‘Thrill in School 

Life’ of your My English Reader Book. (100-120 words) 

      (6) 

 SECTION-C : GRAMMAR (20 MARKS)  

7. Do as directed:   (1×4=4) 

a)  Hari played the piano beautifully. (Underline the verb and state whether it is regular or   

  irregular.) 

 

b)  They _____________ (go) to the market yesterday. (Use the correct form of the verb   

‘go’.) 

 

c) I myself baked the cake. (State whether the underlined pronoun is emphatic or  

 reflexive pronoun.) 

 

d)  Sita completed the task in a very quick manner. (Replace the underlined phrase  

  with the correct adverb.) 

 

8. The following passage has not been edited. Identify the errors and make the 

necessary corrections: 

                                                                           Incorrect          Correct 

Mr. Roy, give me the break, won’t you?          a) ______           ________ 

 I’ve got to get a story or an editor will            b) ______           ________ 

dismiss me. Please provide any information    c) ______           ________ 

about yourself.  Do you have some family?     d) ______           ________ 

(1×4=4) 

9. Fill in the blanks with the suitable modal given in the brackets:                  (1×4=4) 

a)  

b) 

 

c) 

 d) 

______ I speak to you for a moment, Sir? (may / might /can) 

 As a child, she _______ wake up early every morning to go for a walk with her father. 

(need / used to / dare to) 

______ you like to have coffee? (should / could /would) 

A student ________ carry his/ her school diary on a regular basis. (must / will / ought to) 

 

10. 

a)  

b) 

c) 

d) 

Choose the correct form of the verb that agrees with the subject: 

 He and I _____ (am / are) brothers.  

 Three kilometres ____ (is / are) a short distance.  

 Each of the girls _______ (was / were) given a prize.  

 Economics_____ (is / are) an interesting subject. 

(1×4=4) 

11.  Rearrange the jumbled words or phrases to form meaningful sentences: (1×4=4) 

a)  can / king cobras / reach / in length / 18 feet   

b) they / venomous / the / are / longest / of all / snakes  

c)  live / they / mainly / India / in / plains / rainforests / of / and / the  
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d)  humans / fear / have / for / a / snakes / such   

 SECTION-D : LITERATURE (24 MARKS)  

12. 

 

 

 

a) 

 

b) 

 

 

c) 

 

 

   d) 

Read the extract given below and answer the questions that follow: 

‘Every moment has its duty, 

Who the future can foretell? 

Then why put off till tomorrow  

What today can do as well?’ 

Name the poet of the above stanza. 

i)W.H. Davies      ii) W.B. Yeats      iii) J.E. Carpenter       iv) P.B. Shelley 

 ‘Every moment has its duty’ implies that _____________. 

i) we want to sit idle                                      ii) we can work tomorrow 

iii) every moment is important                      iv) we can wait and act 

 What message does the above stanza convey? 

i) Waiting for future is important.                  ii) Not to wait for the future. 

iii) To act in the present moment.                  iv) Both ii and iii. 

 What is the meaning of the word ‘foretell’? 

     i) listen                 ii) predict            iii) implement             iv) focus 

(1×4=4) 

13. 

 

a) 

 

b) 

 

c) 

 

d) 

 

Read the extract given below and answer the questions that follow: 

 ‘He spotted a strange palace. He decided to go inside the palace and meet its owner.’ 

Name the author of the above prose piece. 

 i) Charles Dickens     ii) Ruskin Bond        iii) Shaharyar         iv) Alexander Ruskin 

 Who is ‘he’ in the above extract?   

 i) The old man    ii) The faqir    iii) The elder brothers    iv) The helpful young man 

 Who was the owner of the palace? 

 i) The old man    ii) The princess   iii) The prince          iv) The helpful young man 

Which one of the following words is the appropriate synonym of the word ‘strange’? 

 i) familiar             ii) weird                iii) normal                iv) pleasant 

(1×4=4) 

14. 

a) 

 

b) 

 

c) 

d) 

Answer the following questions briefly: 

Daddy’s final decision regarding his career was significant. - Explain with two valid 

points. 

‘The white elephant’s actions exhibit the theme of selflessness.’ Justify with two valid 

points. 

‘No time to turn at Beauty’s glance...’ - What does ‘Beauty’s glance’ refer to? 

 What lesson did Gandhiji learn from the incident of confessing his theft to his father? 

(2×4=8) 

15. Evaluate the relevance of the poem ‘Leisure’ by W.H. Davies in today’s digital age. 

How can the poem’s message be applied to modern life?  

   (4) 

16. Imagine yourself as Gandhiji and compose a diary entry expressing your feelings after 

being convicted of lying by the headmaster and the subsequent realization that a man of 

truth must also be a man of care. 

   (4) 

*************************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-2/ HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class: VI                  Maximum Marks: 80 

Subject: Mathematics     `                     Time: 3 Hours 
General instructions: 

• All questions are compulsory. 

• The question paper consists of 36 questions divided into 5 sections A, B, C, D and E. 

• Section A comprises of 16 questions of 1 mark each.  

• Section B comprises of 6 questions of 2 marks each.  

• Section C comprises of 7 questions of 3 marks each.  

• Section D comprises of 4 case studies 4 marks each. 

• Section E comprises of 3 questions of 5 marks each. 

• There is no overall choice. However, an internal choice has been provided in five questions of 1 

mark, two questions of 2 marks, two questions of 3 marks, one question of 5 marks. 

 

 SECTION – A  

1. Write the smallest 4- digit number using the digits 0,1,2 and 4. 

OR 

How many lakhs make 4 millions? 

(1) 

2. In the given figure, the number of line segment(s) is ____. 

 

                              A           B            C          D E 

(1) 

3. Replace the blank in 645 ___with the least number, so that the number is divisible by 11. 

OR 

Express 41 as a sum of three odd prime numbers. 

(1) 

4. How many line segments are there in the given figure? 

 

 

OR 

How many lines can pass through three non- collinear points, taken in pairs? 

(1) 

5. How many factors does 36 have? (1) 

6. Identify the angle corresponding to ∠1 from the given 

figure. 

 

(1) 

7. Express 4 kg to 250 g as ratio in simplest form. (1) 

8. Subtract 3 from −6. (1) 

9. Comparing two quantities by division is called__________________.  (1) 

10. One of the angles of a linear pair is obtuse angle. What kind of angle is the other? (1) 

11. How many diagonals are there in a pentagon? 

                                                                     OR 

How many end points a line segment has? 

(1) 

12. Write Roman numeral for MMX. (1) 

13. One end point of a line segment AB is against mark 3 and the other at mark 10 of a scale. 

Find the length of the line segment AB. 

(1) 

14. Lines in a plane which do not meet anywhere are called________________ lines. (1) 

15. The successor of the integer (−1) is __. 

                                                                     OR 

The predecessor of the integer 0 is ___. 

(1) 
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16. Identify alternate interior angle(s) of ∠2 from the given figure. 

                                                            1 

                                                2 

                                                        3 

                                           4 

 

(1) 

 SECTION – B  

17. Write the following integers in descending order: 

−8,       0,      4, 6, −6, 10,   − 9 

                                                              OR 

Find the sum of - 
|−7|  + ( −7)  +  |4| 

(2) 

18. Find the value of - 

242 × 95 + 242 × 4 + 242 

(2) 

19. If 𝑥, 60, 45 are in continued proportion, find x. (2) 

20. Fill in the blanks. 

a) The table top gives the idea of a ______________ surface. 

b) The line segments of ‘plus’ sign represent ______________ line segments. 

(2) 

21. Is it possible to locate the middle point of a - 

      a)  straight line?                            

      b) line segment? 

(2) 

22. Find out an angle whose supplement is the angle itself. 

OR 

Find out an angle whose complement is the angle itself.             

(2) 

 SECTION – C  

23. In the given figure, write- 

a) the lines whose point of intersection is at E. 

b) one set of four collinear points. 

c) the point of intersection of lines r and t. 

 

 

 

(3) 

24. Calculate 1 – 2 + 3 – 4 + 5 – 6 + ……… + 199 – 200. (3) 

25. Sahil weighs 36 kg. His brother weighs 2 kg less. Find the ratio of weight of Sahil’s 

brother to Sahil. 

OR 

The ratio of length of a vertical pole and its shadow on the ground is 7:2. Find the length 

of the pole, if the length of the shadow is 2.4 m. 

(3) 

26. Find the greatest number which divides 625 and 1433 leaving remainders 5 and 3 

respectively. 

                                                                   OR 

Find the smallest number which when divided by 25, 40, 60 leaves remainder 7 in each 

case. 

(3) 

27.  Look at the figure and name the- 

a) angle corresponding to ∠𝑓. 

b) all interior angles. 

c) angle alternate interior to ∠𝑏. 

 

 

 

 

(3) 
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28. Look at the figure and answer the following questions: 

a) Is the point R in the interior of ∠𝑆𝑂𝑅? 

b) Is the point R in the interior of ∠𝑅𝑂𝑃? 

c) Is the point P in the exterior of ∠𝑅𝑂𝑆? 

 

 

 

(3) 

29. Find perimeters of a square of side 2cm and of an equilateral triangle of side 1.5cm. 

Construct a line segment whose length is the difference of their perimeters. 

(3) 

 SECTION – D (CASE STUDY BASED QUESTIONS)  

30. Kajal, a 12-year-old student of class VI, was preparing a family tree. The tree had 

pictures of all the members of her family along with their ages. The present age of 

Kajal’s Father is 48 years and her mother is now 42 years old.  

Based on the above information answer the following questions: (Any four). 

a) Find the ratio of present age of father to the present age of Kajal. 

      i) 1:4                      ii) 4:1                            iii) 8:7                   iv) 7:8 

b) After 12 years, what will be the ratio of the age of Kajal to her mother? 

     i) 12:31                  ii) 11:31                         iii) 4:9                   iv) 5:3 

 c)   Before 8 years, what was the ratio of the age of Kajal to her father? 

     i) 1:10                  ii) 10:2                            iii) 2:5                    iv) 8:5 

 d)  When 2 years is added to father’s present age and 2 years is subtracted from Kajal’s  

     present age, what will be the ratio of Kajal’s age to her father’s age? 

     i) 5:1                  ii) 1:5                                iii) 10:7                   iv) 7:10 

 e)  If Kajal's brother is 6 years older than her, then find the ratio of the age of Kajal  

      to her brother. 

       i) 2:3                  ii) 3:5                                iii) 6:5                    iv) 4:5 

(4) 

31. Follow the given diagram and answer the following 

questions: (Any four). 

a) The another name of ∠𝐶𝐹𝐸 𝑖𝑠 - 

    i)  ∠4                                         ii) ∠1                   

   iii)  ∠6                                      iv) ∠2 

b) The another name of ∠1 is - 

 i) ∠𝐵𝐶𝐷                              ii) ∠𝐵𝐴𝐷                   

iii)∠𝐶𝐹𝐸                             iv) ∠𝐶𝐸𝐹 

c) ∠4 𝑎𝑛𝑑 ∠8 are - 

i) Alternate interior angles                                   ii) Alternate exterior angles 

    iii) Corresponding angles                                     iv) Adjacent  angles 

d)   ∠1𝑎𝑛𝑑 ∠8  are - 

    i) Linear pair                                                         ii) Vertically opposite angles 

    iii) Alternate interior                                             iv) Alternate exterior 

e)   Which set of points are collinear points? 

i) A, B, C             ii) B, C, F               iii) D, C, F               iv) E, F, C 

(4) 
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32. Ram and Mohan were playing Jumping Jack. They created a dummy number line on the 

ground and marked integers over it. The rules of the game were simple, they can take 

only one step at a time either forward or backward. The movement on the number line 

was decided by the toss of a coin, Head means +1 and Tail stand for -1. 

Based on the above information answer the following questions: (Any four). 

 
a) Write the integer having no sign. 

i)          1               ii) 0                          iii) −1                               iv) −2   

b) What is the distance between 1 and −1? 

i) 2 units        ii) 4 units                   iii) 1 unit                       iv) −1 unit 

c) Mohan started the game standing at zero. He now scored two tails and reached at 

a particular position in the number line. Then how many heads he has to score to 

reach at 2 in the number line from his new position. 

i) 3              ii) 2                           iii) 0                                  iv) 4  

d) If Ram stood at -1 and got two consecutive heads and one tail, then what is his 

position now on the number line? 

i) 0              ii) 1                           iii) 2                                  iv) 3 

e) If Mohan stood at -2, then | − 2| = ? 

i) 2              ii)  −2                       iii) 4                                  iv) −4 

(4) 

33. In the given figure, ‘t’ is a transversal to the lines AB and CD. 

Based on the above information answer the following questions:(any four). 

a) ∠𝑎 and ∠𝑐 are - 

   i) Alternate interior angles   ii) Alternate exterior angles 

  iii) Corresponding angles     iv) Vertically opposite angles  

b) ∠𝑓 and ∠𝑑 are - 

   i) Alternate interior angles     ii) Alternate exterior angles 

   iii) Corresponding angles        iv) Linear pair 

c) ∠𝑔 and ∠𝑓 are - 

    i) Alternate interior                             ii) Alternate exterior 

   iii) Corresponding angles                       iv) Linear pair 

d) ∠𝑎 and ∠𝑔 are - 

   i) Alternate interior angles                    ii) Alternate exterior angles  

  iii) Corresponding angles                      iv) Linear pair 

e) ∠ℎ and ∠𝑔 are - 

i) Corresponding angles                       ii) Vertically opposite angles  

  iii)  Alternate interior angles                 iv) Exterior angles 

(4) 

 SECTION – E  

34. a) The HCF and LCM of two numbers are 13 and 1287 respectively. If one number is          

    117, find the other number. 

b) Find the LCM (24, 90, 48). 

                                                                     OR 

a) Express the smallest 5- digit number as a product of primes. 

b) Can two numbers have 21 as HCF and 380 as LCM? Give reasons. 

(3+2) 

35. a) Simplify 27 −  [5 +  {28 − (17 − 7)}] 
b)  Estimate the product: 1,555× 2,776. 

(3+2) 

36. In the given figure, name- 

a) the lines concurrent at A. 

b) all the points that lie in the plane. 

c) two pairs of interesting lines. 

d) the point of intersection of three lines l, p and m. 

e) one set of collinear points. 

(5) 

********************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST - 2/ HALF YEARLY EXAMINATION 

SESSION: 2024 – 2025 
 

Class: VI                              Maximum Marks: 80 
Subject: Sanskrit                                                                        Time: 3 Hours 

 
िनदɕशा:  
1. अȮӤन्  мҨपΆे 5 खؤाः  सȮϜ।  
2. мितखؤӦ उͱराȭण पृथक्  мदͱायाम्  उͱरपȮुӒकायां लखेनीयािन।  
3. м΄ेकं खؤम्  अȭधकृ΄ उͱराȭण ʉमेण लेखनीयािन।  
4. мҨसˍा мҨपΆानसुारं लेखनीया।  
5. खؤसˍा अिप लेखनीया।  
6. अȮӤन्  мҨपΆे 20 мҨा: सȮϜ।  

 खؤः  ‘क’ अपिठत-अवबोधनम् – (10)  

1. I. अधोȭलȭखतं गμांशम् आधारीकृ΄ वेन-आरेख ेмҨानाम ्उͱराȭण ȭलखϜु-  
सायंकालः  भवित। सूयɋः  तु अӒं ग˴ित। खगाः  Ӫनीडािन ग˴ȮϜ। कमलािन Ѿानािन 
भवȮϜ। सवɕ जनाः  Ӫगृहम् आग˴ȮϜ। राΆौ उलकूाः  इतӒतः  ѠमȮϜ। पȭथकाः  िवҪामाय 
ितҽȮϜ। बालकाः  ʉȱडाʔΆेात् Ӫगृहम् आग˴ȮϜ। गृहम् आग΄ िविवधान ्आहारान् खादȮϜ। 
राΆौ सवɋΆ अϹकारӦ रा̌म् भवित। 

 1+2=3 
 

 (अ) अӦ गμांशӦ शीषɋकं ȭलखत।  
(आ) शीषɋकं समथɋनं करोित एवम् πौ सूचकौ गμांशात् ȭचΉा ȭलखत।  
 

 

 II. अधोȭलȭखत-वाʈािन घटनाɦˌलारेख ेअनुʉमणेन ȭलखϜ-ु  
(क) रामः  мातः  प̓वादने उिͱҽित।  
(ख) सायंकाले अџासं कृΉा ʉȱिडतुम् ग˴ित।  
(ग) अҍाहारं  कृΉा िवμालयम् ग˴ित।  
(घ) िवμालये िविवधान् िवषयान् पिठΉा गृहम् आग˴ित।  
 

½×4=2 
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III. अधोȭलȭखतं गμांशम ्आधृ΄ कारणं мभावं च ‘टी-चाटɋ’ माφमेन ȭलखϜ-ु      
एकदा एकȮӤन ्ʱामे अनावृिҷः  अभवत्। अनावҷेृः  कारणेन कृषकाः  दुः ȭखताः  अभवन्। कृषकाः  
जलӦ अभावेन अϿं न उ;ादयȮϜ Ӥ। तदा ʱामवाȭसनः  य̆म् अकुवɋन्। य̆Ӧ कारणेन देवाः  
мसϿाः  अभवन्। ततः  सहसा वषाɋ आरѐा। वषाɋयाः  कारणेन कृषकाः  पुनः  अϿम् उ;ादयȮϜ 
Ӥ।  

टी-चाटɋ  
कारणम ् мभावः   

(i) एकदा एकȮӤन् ʱामे 
अनावृिҷः  अभवत्।  

(ii)  

(i)  
 
(ii) कृषकाः  पनुः  अϿम् 

उ;ादयȮϜ Ӥ।  
 

 
 
 
 
 

1×2=2 
 

 IV. अधोȭलȭखतं गμांशं पिठΉा वेन-आरेख ेएकं भेदम् (अϜरं) एकां समानतां च ȭलखत- 
एषः  सुरेशः  अȮӒ। एषा रमा अȮӒ। उभौ мातः  प̓वादन ेउिͱҽतः  िवμालयं च ग˴तः । सुरेशः  
мातः काले सेवफलम् खादित। परϜ ु रमा कदलीफलं खादित। सुरेशः  रमा च उभौ संӎृतम ्
पठतः । 
           
 
 
 
                         (i)  (i) (i) 
 

1+1+1=3 

 खؤ: - 'ख' रचना΂ककायɋम्- (15) 
2. अधोȭलȭखतम् ‘мदषूणम्’ इित िवषयकम् अनु˴ेदम् म̜ूषायाः  उȭचतपदैः  पूरियΉा पुनः  
ȭलखत-                
अधुना सѪूणɕ भारतदेश ेi)_______  एका गѴीरा समӦा वतɋते। мदषूणӦ ii)_______ 
мकाराः  सȮϜ। जलмदषूणम्, वायुмदषूणम् iii)_______ च। जनाः  iv)_______ त ु न 
कुवɋȮϜ परϜु वृʔाणा ं छेदनम् अवتमेव कुवɋȮϜ। v)_______ िनमाɋणं तीҢग΄ा भवित, 
वाहनाना ंसˍा अिप мितिदनं एव वधɋते। वयम् एतӦाः  समӦायाः  समाधानं िमȭलΉा एव 
कुयाɋम।  
 

 
1×5=5 

अÛतरः 

समानता 

अÛतरः 

रमा  सुरेश: 

म̜षूा –  यϢालयानां, वʔृारोपणं, мदषूणम्, ωिनмदषूणम्, Άयः   
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3. ȭचΆं ɠҼा म̜षूातः  शюान ्ȭचΉा Ȭरɷәानािन पूरयϜु- 

(क) ȭचΆे वानरः  _______ खादित। 
(ख) खगाः  _______ उड् डयȮϜ। 
(ग) बालाः  उμाने _______ ʉȱडȮϜ। 
(घ) बाȭलका ितҽित _______ च पठित। 
(ङ) मयूरः  _______। 

1×5=5 

4. अधोȭलȭखतािन वाʈािन संӎृतभाषया अनुवादं कृΉा ȭलखत- 
(i) वह खाती  है।          (She eats.) 
(ii) मɗ पढ़ता ɩँ।            (I read.) 
(iii) तुम ȭलख रहे थे।      (You were writing.)  
(iv) बालक जा रहा है।     (The Boy is going.) 
(v) मोर नाच रहा था।      (The Peacock was dancing.) 

1×5=5 

 खؤ: -'ग' अनुмयɷु-ҡाकरणम ्- (25)  
5. अधोȭलȭखतपदानां वणɋिवЏासं वणɋसंयोजनम ्च कुɣत-  

(i) परϜु- 
क) प+्अ+र+्न+्त ु         ख) प्+अ+र+्अ+न+्त+्उ          ग) प+र+न+त+उ  
(ii) छ्+अ+त्+र+्अ+म्- 
क) छतɋम्                   ख) छतरम्                         ग) छΆम् 
(iii) Ѡमित- 
क) भ+्र+्अ+म्+अ+त+्इ   ख) भ्+र+्म्+त+्इ           ग) Ѡ+म+ित  

1×3=3 
 

6. रेखािʼतपदेषु мदͱिवकҍџेः  आकाराϜ-ӕीȭलˎ-शюानां мयोगं कुɣत- 
(i) वʔृात ्फलािन पतȮϜ।  
क) लता                 ख) लताम ्                  ग) लतायाः  
(ii) ȭशӊः  िवμालयं ग˴ित।  
क) पाठशालाः            ख) पाठशालाम्              ग) पाठशालायाम ्
(iii) उμान ेपुӃाȭण िवकसȮϜ।                                        
क) वािटकायाम्          ख) वािटकायाः               ग) वािटके 
 
 

1×3=3 
 

म̜षूा - पुӒकं,  आकाश,े  फलम्, 
नृ́ ित,  कϰकेुन   
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7. िवकҍेџः  िʉयाɤपाणां वचनपȬरवतɋनं कृΉा Ȭरɷәानािन पूरयत-     
(i) एकवचनम ्                                     बɨवचनम ्
    _______                                      धावȮϜ 
क) धावȭस             ख) धावित           ग) धावािम 
(ii) एकवचनम्                                     बɨवचनम ्
     चलȭस                                         _______ 
क) चलथ              ख) चलामः           ग) चलȮϜ  
(iii) एकवचनम ्                                   िπवचनम्   
      _______                                    Ѡमत:  
क) Ѡमित              ख) Ѡमȭस           ग) ѠमȮϜ  

1×3=3 
 

8.     мदͱिवकҍेџः  समुȭचतं शюɤपं ȭचΉा वाʈेष ुȬरɷәानािन परूयत- 
(i) उμान े______ कϰकेुन ʉȱडȮϜ। 
क) बालकः            ख) बालकौ          ग) बालकाः  
(ii) ______ उ˲ैः  हसित। 
क) लते               ख) लताः            ग) लता  
(iii) एतािन फलािन ______ सȮϜ? 
क) कािन              ख) िकम ्          ग) के  
(iv)  ______ कुΆ ग˴ȭस? 
क) अहम्              ख) Ήम्           ग) यूयम ्

1×4=4 

9. мदͱेџः  िवकҍेџः  समȭुचतं धातɤुपं ȭचΉा वाʈेष ुȬरɷәानािन पूरयत- 
(i) यूयम् जलं ______। 
क) िपबȭस           ख) िपबȮϜ       ग) िपबथ 
(ii) अहम् जϜुशालाम ्_______। 
क) अग˴म्         ख) अग˴ाव     ग) अग˴ाम  
(iii) ते छाΆाः  िवμालय े_______। 
क) अपठन्           ख) अपठत्       ग) अपठम ्
(iv) Ήम् िकम ्_______? 
क) करोित            ख) करोिष        ग) कुवɋȮϜ 

1×4=4 
 

10. अधोȭलȭखतपदानां सȮϹं सȮϹ˴ेदं वा कृΉा ȭलखत। 
(i) पȬर + ईʔा - 
क) पȬरʔा            ख) परीʔा            ग) परɎʔा 
(ii) देवे϶: - 
क) देवी + इ϶:     ख) देव + ए϶:        ग) देव + इ϶: 
(iii) साधूिɷ: - 
क) साधु + उिɷ:   ख) साधु + ऊिɷ:     ग) साधू + िɷ: 

1×4=4 
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(iv) वन + उΌव: - 
क) वनोΌव:        ख) वनΌुव:           ग) वनौΌव: 

11. мदͱिवकҍेџः  उȭचत-कारकिवभिɷयɷुपदं ȭचΉा Ȭरɷәानािन पूरयϜ।ु 
(i) देवदͱ: ______ ȭलखित। 
क) कलमम्          ख) कलमे            ग) कलमेन 
(ii) ______ πौ पुΆौ आӒाम।् 
क) रामӦ           ख) रामेण            ग) राम े
(iii) सा ______ खादित। 
क) फल:            ख) फलाय           ग) फलम् 
(iv) छाΆाः  ______ िवμालयं  ग˴ȮϜ। 
क) पठनӦ          ख) पठनाय          ग) पठनात ्

1×4=4 

 खؤ:- 'घ' पिठत-अवबोधनम् - (25)  
12. अधोȭलȭखतं गμांशं पिठΉा мҨानाम् उͱराȭण ȭलखत। 

एषः  मम िवμालयः  अȮӒ। मम िवμालयः  सुϰरः  अȮӒ। मम िवμालयः  िवशालः  अिप अȮӒ। 
अहं мितिदनं िवμालयं ग˴ािम। अहं िवμालय ेмितिदनं पाठं पठािम। अहं िवμालये мितिदनं 
लेखम् अिप ȭलखािम। िवμालये मम अनेकािन िमΆाȭण सȮϜ। अहं िमΆैः  सह ʉȱडािम। अӤाकं 
िवμालये अनकेािन ȭचΆाȭण सȮϜ। ȭचΆाȭण सϰुराȭण सȮϜ। वयं िमȭलΉा सुϰराȭण ȭचΆाȭण 
पتामः । वयं िमȭलΉा गीतािन अिप गायामः । वयं िमȭलΉा ʉȱडाˎण ेʉȱडामः  धावामः  च। 
अӤाकम् अφापकाः  अφािपकाः  च ӝेहेन पाठयȮϜ। वयम ्अिप ӝेहेन पठामः  अφापकानाम ्
च सѷानं कुमɋः ।       

 

 अ. एकपदेन उͱरत।  
(i) वयम् िमȭलΉा कािन गायाम:? 
(ii) अहं कै: सह ʉȱडािम? 

½×2=1 
 

 आ. पूणɋवाʈेन उͱरत।  
(i) वयम् िमȭलΉा कािन पتामः ? 
(ii) वयम् अφापकानाम ्िकम् कुमɋः ?  

1×2=2 

 इ. мदͱिवकҍेџः  उȭचतम् उͱरं ȭचनतु। 
(i) 'मम’ इ΄ȮӤन ्पदे का िवभिɷः ? 
क) мथमा        ख)  षҽी        ग) सаमी  
(ii) ‘अहं िवμालये мितिदनं पाठं पठािम’ अΆ िʉयापदं िकम ्अȮӒ? 
क) पठािम        ख) पाठं        ग) अहं 

1×2=2 

13. अधोȭलȭखतं ҭोकम् आधृ́  мҨानाम् उͱराȭण ȭलखत। 
िмयवाʈмदानेन सवɕ तुӊȮϜ जϜव:। 

तӤात ्तदेव वɷҡं, वचन ेका दȬरνता ॥ 
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 अ. एकपदेन उͱरत।  
(i) िмयवाʈмदानेन के तӊुȮϜ? 
(ii) कȱɠशं वचनम् वɷҡम्?  

½×2=1  
  

 आ. पूणɋवाʈेन उͱरत।  
(i) केन सवɕ तӊुȮϜ? 
(ii) वचने का न भवेत्?  

1×2=2 
  

 इ.  мदͱिवकҍेџः  उȭचतम् उͱरं ȭचनुत। 
(i) ‘तӤात्’- इित पदे का िवभिɷः ?  
क) प̓मी         ख) षҽी             ग) सаमी 
(ii) ‘भाषण’े- इ΄Ӧ िकं पयाɋयपदं ҭोके अȮӒ? 
क) мदानने         ख) वचने        ग) दȬरνता  

1×2=2 
  

14. अधोȭलȭखतं ना̼ांशं पिठΉा мҨानाम् उͱराȭण ȭलखत।  
अφािपका – क˴पः  कुलीरः  च जल ेभूमौ च उभयΆ वसतः ।  
(एकः  िवशालकायः  मΚः  जलӦ उपȬर आग˴ित) 
सागरः   - अӦ मΚӦ िकं नाम अȮӒ? 
अφािपका  - अӦ नाम ‘शाकɋ ’ अȮӒ। 
Ҫुितः   - अयं िकं िकं खादित ? 
अφािपका  - अयं लघुमΚान् खादित। 
शैलेशः   - अयं मानवान् अिप खादित। 
अφािपका  - आम्! अयम ्अित बलवान् मΚः  भवित। 
मोिहतः   - समुνे तु बहवः  जϜवः  वसȮϜ। 

 

 अ. एकपदेन उͱरत।  
(क) समुνे के वसȮϜ? 
(ख) लघुमΚान ्कः  खादित? 

½×2=1 
 

 आ. पूणɋवाʈेन उͱरत।  
(क) कौ जले भूमौ च उभयΆ वसत:? 
(ख) शाकɋ ः  िकम ्िकम् खादित? 

1×2=2 

 इ. мदͱिवकҍेџः  उȭचतम् उͱरं ȭचनतु।  
(i) ‘मΚः ’ इित पदे का िवभिɷः ? 
 क) िπतीया           ख) ततृीया      ग) мथमा 
(ii) ‘भवित’ इित पदे कः  लकारः ? 
 क)  लट्              ख) लङ्         ग) लट्ृ 

1×2=2 
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15. िनѨȭलȭखतं ҭोकं पिठΉा म̜षूातः  उȭचत-पदैः  अВयं पूरयत।  
अयं िनजः  परो वेित गणना लघुचेतसाम।् 
उदारचȬरतानां त ुवसधुैव कुटुѰकम।्। 

अВयः  – (i) _______  िनजः  (ii) _______  वा इित गणना (iii) ______ भवित। 
(iv) ________तु (v) ______ एव (vi) ________ भवित। 

 
 

½×6=3 

16. ҭोकं पिठΉा म̜षूातः  उȭचत-पदैः  भावाथɍ पूरयत।  
उμमेन िह ȭसφȮϜ कायाɋȭण न मनोरथै:। 
निह सаुӦ ȭसंहӦ мिवशȮϜ मुखे मृगाः ।।  

भावाथɋः  – सवाɋȭण i) ____   पȬरҪमेण एव सफलािन भवȮϜ। केवलम ्ii)_____ न। 
भोजनाय पशून् iii) ______ ȭसंहः  अिप мयासं करोित। सुаӦ iv)_______ मुखे पशवः  
Ӫयमेव мवशंे न कुवɋȮϜ। 
 
 

½×4=2 

17. अधोȭलȭखतािन वाʈािन कथाʉमानुसारेण पुन: ȭलखत । 
(क) काकः  मषूकम् हȬरणӦ समीपम् अनयत।् 
(ख) हȬरणӦ िमΆाȭण तӦ мतीʔाम ्अकुवɋन्। 
(ग) हȬरणः  मɷुः  अभवत।्   
(घ) मषूकः  जालम ्अकृϜत्। 

½×4=2 

18. әूलपदम् आधृ΄ мदͱिवकҍेџः  उȭचतं мҨवाचकं पदं ȭचΉा мҨिनमाɋणं कुɣत- 
(i) भारतमाता वीराणा ंजननी अȮӒ। 
क) का               ख) क:             ग) के   
(ii) अनेके वीरबालका: भारतभूमौ उ;Ͽाः  अभवन।् 
 क) कदा            ख) कुΆ             ग) िकम ्
(iii) सा सैिनकेџः  आवتकवӒनूा ंिवतरणम् अकरोत्। 
 क) कӦाः           ख) कासाम्         ग) केџः  

1×3=3 

 खؤः  – ‘ङ’ सािह΄ं ҡाकरण̓- (5)  
19. мҨान् पिठΉा अधोȭलȭखत-िवकҍेџः  शήुम् उͱरं ȭचΉा ȭलखत- 

(i) अȭभकथनम-् अयं िनजः  परो विेत गणना लघुचेतसाम्। 
तकɋ ः  – लघुचेतसा ंजनानां ɪदयः  उदारः  भवित। 
क) अȭभकथनं शήंु, तकɋ ः  अशुήः । 
ख) अȭभकथनम् अशήंु, तकɋ ः  शήुः । 
ग) उभौ शήुौ।   घ)  उभौ अशήुौ। 

1×2=2 

म̜षूा- वसुधा, उदारचȬरतानां,  कुटुѰकम,्  पर:,  लघुचेतसाम्,  अयं  

म̜षूा- ȭसंहӦ,   कायाɋȭण,   इ˴या,   мाаुं   



8 
 

 

************** 

 (ii) अȭभकथनम ्– स̀न:ै सह िमΆता करणीया। 
तकɋ ः   - स̀नानां िमΆता अȭधका शीतला भवित। 
क) अȭभकथनं शήंु, तकɋ ः  अशुήः । 
ख) अȭभकथनम् अशήंु, तकɋ ः  शήुः । 
ग) उभौ शήुौ।  
घ) उभौ अशήुौ। 

 

20. उȭचतं सѰϹयɷुपदं ȭचΉा ȭलखत।  
(i) उμमेन     :     पȬरҪमेण    : :    हिषɋता:    :       ? 
क) ȭखϿा:           ख) мसϿा:         ग) द:ुȭखता: 
(ii) िवμालयः   :  पाठशाला      : :   ʉȱडाˎणे        :       ?  
क) रʔाʔेΆे         ख) रणʔेΆे         ग) ʉȱडाʔΆेे   
(iii) एतत्     :     एतािन       : :     एष:      :      ? 
क) एत े             ख) एता:           ग)    एतौ        

1×3=3 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-2 / HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class: VI                                                                             Maximum Marks: 80 

Subject: Science                                                             Time: 3 Hours 
General Instructions: 

1. All questions are compulsory. 

2. There is no overall choice in the question paper. However, internal choices have been provided in 

three questions of 3 marks category and three questions of 5 marks category.  

SECTION- A 

1. Which of the following are the biotic components of an ecosystem?  

a) Producers and consumers   b) Only consumers    

c) Only producers                   d) Producers, consumers and decomposers 

(1) 

2. Refer to the given analogy, identify X and select the correct option: 

Scavenger: vulture :: Omnivore : X 

a) plant                           b) bear                      c) tiger                   d) cow 

(1) 

3. Citrus fruits like guava, lemon, orange and tomato are rich in: 

a) Vitamin A     b) Vitamin B c) Vitamin C       d) Vitamin D 

(1) 

4. A child is suffering from malnutrition. His dietitian suggested him to add such an item 

which has twice protein as compared to meat and four times protein as compared to egg. 

What will be his choice?  

a) Milk                          b) Butter                    c) Cereals              d) Soyabean 

(1) 

5. Pick one material from the following which is completely soluble in water: 

a) Chalk powder    b) Tea leaves c) Sugar       d) Sawdust 

(1) 

6.  

 

 

 

 

 

 

Out of the above three pictures which one represents the matter where the particles have 

least hold on each other?  

a) A                                b) B                          c) C                        d) B and C 

(1) 

7. Refer to the given flowchart, identify X, Y and select the correct statement regarding them: 

                                                 X                                     Y 

                                                →                                    →  

    a) X-decantation Y-sedimentation                               b) X- sedimentation Y- decantation  

c) X-decantation Y-evaporation                                   d) X-filtration Y-sedimentation 

(1) 

A B C 

Mixture of sand and water 
Sand settles down Obtaining clear water without 

disturbing the sediments 
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8. In an activity, a teacher dissolved a small amount of solid copper sulphate in a tumbler half 

filled with water. Which method would you use to get back solid copper sulphate from the 

solution? 

a) Decantation               b) Evaporation           c) Sedimentation           d) Condensation 

(1) 

9. Which of the following is a change that can be reversed? 

a) Batter to Idli  b) Grain to its flour 

c) Milk to paneer  d) Stretched rubber band to its normal size 

 

(1) 

10. Energy is absorbed in: - 

a) melting of ice         b) burning of LPG         c) respiration                  d) burning of a candle 

(1) 

11. SI unit of length is: 

a) Metre            b) Quintal   c) Centimetre                 d) Kilometre 

(1) 

12. Which of the following statement is correct for measuring the length using ruler?  

a) Ruler should be placed away from the object whose length is to be measured.  

b) Worn out portions of the ruler should be used for measuring the length.  

c) Keep your eyes vertically above the point where the measurement is to be taken. 

d) Zero mark of the scale should not coincide with one end of the length to be measured.  

(1) 

13. Without these two, measurement is incomplete-  

a) Size and unit          b) Number and unit      c) Size and number               d) Shape and size 

(1) 

14. Cacti and babool are:  

a) Mesophytes     b) Xerophytes              c) Hydrophytes           d) Parasite 

(1) 

15. Radish plants live for- 

a) many seasons b) three seasons c) two seasons             d) one season 

(1) 

 The questions below (Question 16 to19) consist of an Assertion (A) and Reason (R). 

Use the following key to choose the appropriate answer. 

a) Both A and R are true and R is the correct explanation of A 

b) Both A and R are true but R is not the correct explanation of A 

c) A is true but R is false           

d) A is false but R is true 

 

16. Assertion (A): Proteins are made up of carbon, hydrogen, oxygen and nitrogen. 

 Reason (R): Proteins are the body building foods. 

(1) 

17. Assertion (A): Brass is a homogeneous mixture. 

     Reason(A): A homogeneous mixture is that which does not have the same composition   

                         throughout. 

(1) 

18. Assertion (A): Burning of wood is a chemical change. 

     Reason(B):  Wood changes into charcoal and ash. 

(1) 
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19. Assertion(A):  Footstep cannot be used as a standard unit of measurement. 

    Reason(R): Ancient units are not fixed in length and vary from person to person. 

(1) 

20. Decomposers play a crucial role in the flow of energy through an ecosystem. They break 

apart dead organisms into simpler inorganic materials, making nutrients available to primary 

producers. Decomposers break down dead plant materials such as leaf and wood, animal 

carcasses, and faeces. They perform a valuable service as Earth’s cleanup crew.  
 

a) Give example of two decomposers. 

b) Plastic is a non-biodegradable substance. State the reason behind this. 

c) How does decomposition turn out to be useful? 

d) If all the decomposers are removed from an ecosystem, what will happen? 

(4) 

21. Anything which has mass and occupies space is called matter. Matter is a special kind of 

material having specific properties and composition. It is made up of particles, which are 

always in a state of motion. The particles have space in between them and they attract each 

other.  

a) Blackboard has a fixed shape and definite volume. Why? 

b) Solids do not diffuse with each other. Justify.  

c) A tea bag immersed in a cup of hot water changes its colour. Name the property    

     responsible for it. 

d) Take half a glass of water and add a spoon of sugar in it and stir it well. Keep on adding   

     sugar till no more sugar dissolves in it.  What does this phenomenon indicate?  

(4) 

22. Every day we come across many changes in our surrounding. These changes may involve 

one or more substances. Curdling of milk, melting of ice, fermentation of sugar cane juice 

are some of the examples of such changes that are seen in our day-to-day life. Change, 

therefore is a phenomenon in which an object may become different in its shape, size, 

position and at times, even in its composition. 

a) Categorise the following as reversible or irreversible changes: 

    i) Germination of seed           ii) Evaporation 

b) Cutting a cauliflower is a physical change. Justify this statement. 

c) Give one example of a chemical change that occurs in living organism. 

d) Write one difference between slow change and fast change. 

(4) 

23. All moving things and people are considered to be in motion whose position changes with 

respect to time. If the position of an object does not change with time, it is said to be at rest.  

 

(4) 



4 
 

a)  Parul moves on a straight road from point A to point C. 

She takes 20 minutes to cover a certain distance AB and 30 

minutes to cover distance BC. Identify the type of motion   

                                                  shown by Parul. 

b) Motion of the moon around the earth is known as revolution. Give reason. 

c) What kind of motion does a screw undergo while screwing it into the wood? 

d) A child moving on a ‘swing’ is showing oscillatory motion. Why? 

24. Meera has seen that some animals (given in the 

picture) cool themselves in water during hot 

weather. Mention any two reasons behind it. 

 

(2) 

25. While using iodine in the laboratory, few drops of iodine fell on Arpita’s socks and some 

fell on the saree of her teacher. The drops of iodine on the saree turned blue black while the 

colour on the socks did not change. What can be the possible reason? 

(2) 

26. Take two test tubes and mark them as 1 and 2. Fill half of each test tube with water. Mix 

half teaspoon of lemon juice in test tube 1 and half teaspoon of kerosene oil in test tube 2. 

Shake both the test tubes and let it stand for a while. State your observation after few 

minutes.  

(2) 

27. Why is rusting of iron considered as a chemical change? (2) 

28. Name the type of motion displayed by:       a) kicking a football   b) moving blades of a fan  (2) 

29. Give one example of animals on the basis of food habits 

a) Frugivores                            b) Insectivores  

(2) 

30. a) What is food chain? 

b) Give one example of aquatic food chain. 

c) What will happen if zebra is missing in the food chain given below? 

    Grass           Zebra           Tiger 

OR 

a) Use the words, given in the box, to make a 'food chain'.  

  

 

b) Identify the nature ( terrestrial / aquatic)  of the food chain. 

Owl Grass Grasshopper Rat Snake 

(3) 

31. Tanmoy was having difficulty in seeing things in dim light. The doctor tested his eyesight 

and prescribed a particular vitamin supplement. He also advised him to include some food 

items in his diet. 

   a) Which deficiency disease is he suffering from? 

(3) 
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   b) Which vitamin may be lacking in his diet? 

   c) Suggest any two food items that he should include in his diet. 

32.    a) Define the term saturated solution.  

   b) Name two gases which are soluble in water.  

   c) How does solubility of gas in water varies with the temperature?  

OR 

Categorise the following items as soluble or insoluble in water : 

Potassium permanganate, Alum, Petrol, Sand, Ink, Sugar  

(3) 

33. Mention the methods that can be used for separating the components of the following 

mixtures: 

  a) salt and camphor           b) fine sand from pebbles                c) grass from mint leaves 

(3) 

34. A piece of iron is heated till it becomes red-hot. It then becomes soft and is beaten to a  

   desired shape.  

a) What kind of changes are observed in this process? Specify any two changes. 

b) Is formation of an ice a physical change or chemical change? Justify.  

OR 

 Identify the following changes as reversible or irreversible: 

  a) Making a dress from a single piece of cloth          b) Boiling of water      c) Curd into milk 

(3) 

35. Classify the plants on the basis of lifespan. Give one example of each.  (3) 

36. a) A mineral 'P' is essential for the formation of a component 'Q', in the blood  

   of a person. The function, of component ' Q ', is to transport oxygen in the  

   body. The deficiency of mineral ' P ', in the diet of a person, causes a disease  

   'R'. Identify ' P ', ' Q ' and 'R'. 

b) Name two sources of ‘P’. 

c) Write the names of the water-soluble vitamins. 

OR 

a) A mineral 'X' is essential for the proper functioning of gland 'Y'. The  

   deficiency of which causes a disease 'Z'. The primary source of mineral 'X'  

   is iodised salt. Identify 'X', 'Y' and 'Z'. 

b) Name two energy- giving food.  

c) Write the names of any two fat soluble vitamin. 

(5) 

37.     Collect some muddy water from a pond or a river. If it is not available, mix  

    some garden soil to water in a glass. Let it stand for half an hour. Observe     

    the water carefully and note down your observation. A process ‘M’ can be used to speed 

up this activity. 

(5) 
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a) Identify the process ‘M’. 

b) Give an example from your daily life where the process ‘M’ is used. 

c) Draw a labelled diagram of ‘M’. 

OR 

a) Rina accidentally mixed some mustard oil with water. How will you help her to separate  

     these two liquids. Support your answer with a labelled diagram. 

b) Some iron pins get scattered on the carpet when you are expecting guests.    

     How can one collect all the pins in the shortest possible time? 

38. Observe the given diagram carefully to answer the following questions: 

 

 

 

 

                                    A 

a) Identify the organism A on the basis of mode of nutrition. 

b) State any one special feature of organism A. How does organism A  

  differ from green plants? 

c) Write the mode of nutrition found in Dodder plant. 

                  

                                                  OR  

 

 

 

                   X                                                           Y 

a) Observe the pictures given above X and Y and classify them on the basis of the backbone. 

b) Give one example of: 

     i) An animal that reproduce by dividing their bodies. 

    ii) An animal with feathers. 

c) “All living things respire”.  Justify this statement with an example. 

(5) 

************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST – 2 / HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

 Class: VI                                                                            Maximum Marks: 80 

 Subject: Social Science                                                                       Time: 3 Hours 
   General Instructions: 

1.  There are 35 questions. All questions are compulsory. 

2. There is no overall choice in the question paper.  

3. Question no. 35 is map question of History. Map should be attached with the answer sheet. 

 Choose the correct option from the following: (1×16=16) 

1. _____ and ______ are gas giants.    

a) Mercury and Venus                                                                 b) Jupiter and Saturn 

c) Uranus and Neptune                                                                d) Earth and Mars 

 

2. Which of the following statement/s is/are correct about the ‘Frigid Zone’? 

 I: Lies between Equator and Arctic Circle 

 II: Lies between Antarctic Circle and South Pole 

 III: Lies between Tropic of Capricorn and Antarctic Circle  

 IV: Lies between Arctic Circle and North Pole  

a)  I and III                                                                                   b) II and IV 

c) Only II                                                                                     d) Only IV 

 

3. Choose the correct sequence of occurrence of day and night with respect to the 

rotation of the earth. 

a) Dawn-Noon-Dusk-Night                                           b) Morning -Dusk-Noon-Night 

c) Dawn-Noon-Night-Dusk                                           d) Dawn-Morning-Dusk-Noon 

 

4. The earth’s axis makes an angle of ________ with it’s orbital plane. 

a) 23 ½ °                                                                                     b) 66 ½ ° 

c) 90°                                                                                          d) 0° 

 

5. Your uncle Rohan lives in Australia and he is planning to celebrate Christmas with his 

friends. Identify the season during which he will be celebrating Christmas. 

a) Summer                                                                                  b) Winter      

c) Autumn                                                                                  d) Spring 

 

6. The granaries were found at ____________ in Indus Valley Civilisation. 

a) Harappa                                                                                  b) Lothal 

c) Kalibangan                                                                             d) All of these 

 

7. The favourite subject of the Aryans was: 

a) Mathematics                                                                           b) Literature  

c) Astronomy                                                                              d) Science  

 

8. Which of the following statement/s is/are incorrect about the city administrative 

structure of the Mauryan empire? 

I) The city administration was under a Nagrik  

II) The Nagrik was assisted by 25 members 

III) The members were divided into 5 boards of 5 members each. 

a) Both I & II                                                                              b) Both II & III 

c) Both I & III                                                                            d) Only II 

 

9. Match the following: 

Column I Column II 

A. Angas of Jains i. Historical Literature  

B. Abhigyan Shakuntalam ii. Religious Literature  

C. Account of Megasthenes iii. Non-religious Literature  

D. Harashacharita iv. Secular Literature  

a) A-iv, B-iii, C-ii, D-i                                                               b) A-ii, B-iii, C-iv, D-i 

c) A-i, B-ii, C-iii, D-iv                                                               d) A-ii, B-iv, C-i, D-iii 
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10. _______ were the kingdoms where the practice of kingship was not hereditary. 

a) Mahamatras                                                                                        b) Ganasanghas 

c) Guilds                                                                                                 d) Janapadas 

 

11. The civic and moral values which help the child in the development of his/her 

personality is called _________________________________ 

a) Upkar                                                                                                  b) Nirakaar 

c) Akaar                                                                                                  d) Sanskaars 

 

12. Rohit Das, a three year old child attended admission test for LKG in our school last 

week. He performed well in the test as he had learnt many things in his first school. 

Name the ‘first school’ of Rohit.  

a) Society                                                                                            b) Family     

c) Primary school                                                                                d) Neighbourhood 

 

13. Identify the incorrect statement/s with respect to democracy. 

I: It is a form of government of the people, for the people and by the people. 

II: Dictatorship is a unique feature of democracy. 

III: Discussion is a democratic way of problem solving. 

a) Both I & II                                                                                        b) Both II & III 

c) Both I & III                                                                                      d) Only II 

 

14. Arrange the following levels of government from the highest level to the lowest level- 

a) Gram Panchayat, State Government, Central Government 

b) State Government, Gram Panchayat, Central Government 

c) Central Government, State Government, Gram Panchayat 

d) State Government, Central Government, Gram Panchayat 

   

    

15. Two statements are given below, marked as Assertion (A) and Reason (R).  

Read the sentences carefully and choose the correct answer from the given codes. 

Assertion (A): In a rural settlement, people are engaged in activities like agriculture, 

fishing, forestry and craftswork. 

Reason (R): Urban life is facing the problems of higher air pollution levels, 

unhygienic garbage dumping and a fast food culture. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true and R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true.                                       

 

16. Select the incorrect statement/s related to inscriptions from the following: 

I: The study of inscriptions is called Numismatics. 

II: Inscriptions are writings engraved on rocks, pillars, clay tablets, walls of temples 

and caves. 

III: They give information about kings and their achievements. 

a) Only I                                                                                                         b) II & III 

c) Only II                                                                                                        d) Only III 

 

 Answer the following questions in brief:  

17. Define conventional symbols. State anyone use of these symbols. (2) 

18. State two important features of parallels of latitude. (2) 

19. 

 

 
Identify the picture shared above. Mention the age when this invention took place. 

How did it help to revolutionise human civilisation? 

(2) 

20. Early Vedic Period is also known by a different name.What is the name given to that 

period and why? 

(2) 
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21. Define Universal Adult Franchise. (2) 

22. India is characterised by her unique feature of unity in diversity.Give two examples 

which illustrate the essence highlighting this unique feature. 

(2) 

 Answer the following questions:  

23. According to the Upanishads, a man’s life is divided into four Ashrams. Throw light 

and explain any three of these Ashrams. 

(3) 

24. Magadha ranked first among the sixteen Mahajanapadas of that period. Briefly 

enumerate the reasons for achieving this position. 

(3) 

25. “School helps us in our overall development.”- Illustrate the statement with suitable 

examples. 

(3) 

26. Study the following extract and answer the following questions: 

There is evidence that the formation of the Solar System began about 4.6 billion years 

ago with the gravitational collapse of a small part of a giant molecular cloud. Most of 

the collapsing mass collected in the centre, forming the Sun, while the rest flattened 

into a protoplanetary disk out of which the planets, moons, asteroids and other small 

Solar System bodies were formed. 

This model, known as the nebular hypothesis, was first developed in the 18th century 

by Emanuel Swedenborg, Immanuel Kant and Pierre-Simon Laplace. It’s subsequent 

development has interwoven a variety of scientific disciplines including astronomy, 

chemistry, geology, physics and planetary science.  

Since the dawn of the Space Age in the 1950s and the discovery of exoplanets in the 

1990s, the model has been both challenged and refined to account for new 

observations. 

a) Interpret the evolution of solar system. 

b) Name any two scientists who developed the model of Nebular hypothesis.  

c) Recall the name of the galaxy to which our solar system belongs. 

(2+1+1) 

27. Study the following extract and answer the following questions: 

People of the Indus Valley civilization made a living by selling various products, 

agriculture and hunting. The people of the Indus Valley were highly dependent on 

trade. Persia, Mesopotamia and China were among the civilizations they interacted 

with. Some of the goods traded in huge quantities were terracotta pots, semi-precious 

beads, gold, silver, lapis lazuli and coloured gems like turquoise, metals, flints, 

seashells and pearls. 

The occupation of city workers included things as pot making, bead making and 

cotton cloth manufacturing etc. Traders brought the raw materials that workers needed 

and took away the finished products to the other cities. 

a) State one reason which proves that Indus Valley Civilization had good trading 

relations. 

b) Name any two of its trading partners. 

c) Highlight any two reasons responsible for adoption of agriculture as the main 

occupation of the people of Indus Valley. 

(1+1+2) 

28. Study the following extract and answer the following questions: 

In the vibrant tapestry of India’s democracy, one of the most significant threads is the 

principle of Universal Adult Franchise. The story of it’s success is a testament to the 

nation's commitment to equality, empowerment and democratic values. When India 

gained independence in 1947, the nation was a young democracy grappling with 

diverse social and economic challenges. One of the cornerstones of the new Republic 

was the principle of Universal Adult Franchise, which was enshrined in the Indian 

Constitution adopted in 1950. 

Over the decades, Universal Adult Franchise has played a crucial role in empowering 

marginalized communities. One notable example is the inclusion of women in the 

electoral process. Similarly, the principle has been pivotal for the representation of 

Scheduled Castes (SCs) and Scheduled Tribes (STs). Reserved constituencies were 

(2+2) 
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created to ensure that these communities have a voice in the legislative process. This 

has led to an increased political representation and has contributed to a more inclusive 

policy-making. 

a) Highlight the role of Universal Adult Franchise in empowering the 

marginalised communities. 

b) Do you think Universal Adult Franchise forms the very basis of democratic 

governments in India? Justify. 
 Answer the following questions:  

29. a) ‘A globe is a perfect representation of the earth.’- State any three reasons to support 

this statement. 

b) Differentiate between a large scale map and a small scale map. 

(3+2) 

30. a) The year 2028 will have 29 days in the month of February. Justify the reason for 

this extra day in the month of February. 

b) On a certain day in the month of June, Europe will have summer whereas New 

Zealand will have winter. However, this situation will be reversed in both the 

hemispheres in the month of December - Explain this phenomenon with the help of a 

self-explanatory diagram.  

(2+3) 

31. 

 
Study the image shared above and answer the following questions:  

a) The given image shows one of the finest examples of architecture during Ashoka’s 

reign. Identify the image. 

b) Briefly explain any four types of architectural monuments built during that period. 

(1+4) 

32. ‘Inequalities and social evils have challenged the form of diversity in India.’ 

a) Name any two social reformers who have worked incredibly to get rid of the social 

evils. Enlist the provisions mentioned in the Constitution of India adopted as a 

safeguard against these inequalities existing in India. 

b) As a responsible citizen of India, suggest any two steps you would undertake to 

remove the inequalities from the society. 

(3+2) 

33. Your class needs a new monitor to be appointed. The class teacher asks every student 

for their opinion. List any five goals of democracy which can be achieved through this 

strategy. 

(5) 

34. 

 

Compute the date, day and local time of 60°E longitude if the local time at Greenwich 

(London) is 11pm on 23rd September, Saturday. 

(4) 

 

35. On an outline map of India, locate and label the following points: 

(A) Magadha 

(B) Kuru 

 

(2) 

 

 

                                                                           ************** 
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